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1Y0-311 Real Exam Questions:]1.]2018 Latest 1Y 0-311 Exam Dumps (PDF & VCE) 140Q& As
Download: https://www.braindump2go.com/1y0-311.html2.|2018 L atest 1Y 0-311 Exam Questions & Answers Download:
https:.//drive.google.com/drive/folder §0B75b5xY L j SSNdHIIS2EyM Gh6dzQ?usp=sharingQUESTION 86Scenario: A Citrix
Engineer has implemented a multi-zone environment with the following characteristics:- One Primary Zonein New Y ork, one
Satellite Zone in San Francisco and another in Singapore- Microsoft Word Application available in all zones- New Y ork zone
configured as the App Home for Microsoft Word- San Francisco zone configured as the User Home for User1lUserl is currently
located in San Francisco and clicks the icon for Microsoft in Receiver. Userl currently has a disconnected session for Microsoft
Word in Singapore.What will the Receiver do in this scenario?A. Reconnected to the existing disconnected session in Singapore.B.
Launch anew sessionin New York.C. Launch anew session in Singapore.D. Launch anew session in San Francisco.Answer :
BQUESTION 87Scenario: A Citrix Engineer created Desktop OS machines with App Layering and assigned them to helpdesk users.
A user from the helpdesk department logs on to the desktop to test it.\WWhich component is responsible for finding a program or file
and returned it to the operating system when the user makes arequest?A. Windows Operating systemB. Composite file systemC.
Platform layerD. Personalization layerAnswer: BQUESTION 88For which three reasons are connectors needed to create layers?
(Choosethree)A. To export an elastic application layerB. To import aprepared OSimageC. To deploy a packaging diskD.
To import a prepared application layerE.  To publish alayered imageAnswer: BCEQUESTION 89How can a Citrix Engineer
prevent access to certain local driveson Virtual Delivery Agents (VDAS) to all users using Workspace Environment Management
(WEM)?A. Set the "Hide Specified Drives from Explorer" option setting in the environmental settings of WEM.B. Configure the
Restrict Drives from the Explorer setting in the environmental setting of WEM.C. Import the Infrastructure Services server ADMX
template to Group Policy and hide the local drives.D. Use the Management Agent Host Configuration ADMX template to restrict
thelocal drives. Answer: BQUESTION 90Scenario: A Citrix Engineer is designing a multi-server Provisioning Services solution.
The solution must be highly available and minimize the risk of vDisk inconsistency.Which configuration can the engineer
implement to meet the needs of this design?A. Configure a separate local vDisk Store on two Provisioning Services on different
sites and use the export/import feature to replicate the vDisks.B. Configure a separate local vDisk Store on each Provisioning
Services server and use rsync for Windows to replicate the vDisks.C.  Configure vDisk Store on a Common Internet File System
(CIFS) share on a Network Attached Storage (NAS) for each Provisioning Services server.D. Create the Provisioning Services
vDisk Store on a configured, single Distributed File System (DFS) namespace.Answer: CQUESTION 91Scenario: A Citrix
Engineer is managing a XenApp and XenDesktop environment that has been built with the following site architecture:- Site A has
been created in datacenter A.- Site B has been created in datacenter B.A NetScaler Gateway has been set up in each datacenter. Each
Gateway has access to both Sites. The StorefFront server group in each Siteis configured to enumerate resources from both Sites.
Application D isavailablein Site B only.Optimal Gateway Routing has been configured so that the published resources in each Site
are mapped to the local Gateway.A user located near datacenter A logsin through NetScaler Gateway and attempts to launch
Application B.Which behavior is expected in this scenario?A.  Resource enumeration occurs via Gateway A ; the HDX connection
is established using GatewayB. Resource enumeration and the HDX connection are established using gateway A.C. Resource
enumeration and the HDX connection are established using Gateway B.D. Resource enumeration occurs via Gateway B; the HDX
connection is established using GatewayAnswer: AQUESTION 92Which three privileges must the service user account have to run
the Stream and SOAP servicesin Provisioning Services? (Choose three.)A.  Accessto Program FilesCitrixProvisioning ServicesB.
Run asserviceC. Registry write accessD. read and write accessto any vDisk locationE.  Accessto C:WindowsSystem32
Answer: ABDQUESTION 93Which two requirements are needed for the target devices contained in a device collection to function
successfully? (Choose two.)A.  All target devicesin the device collection must be accessible to the same user and/or user groups.B.
All target devices in the device collection must have an Active Directory machine account which is managed by Provisioning
Services.C. All target devicesin the device collection must be located in the same XenApp and XenDesktop Site.D. Al target
devicesin the device collection must be assigned at least one vDisk.E.  All target devices in the device collection must be running
from the same Operating System.Answer: BDQUESTION 94Which configuration will lower the bandwidth requirements for HDX
user sessions?A. Enable the Visual quality ?Always lossless Citrix policy setting.B.  Configure the Workspace Environment
management (WEM) System Optimization Setting.C. create Thinwire 8-bit mode registry key.D. Disable Windows Media
Redirection.Answer: DQUESTION 95A Citrix Engineer must change the write cache method from “Cache on device hard drive' to
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“Cachein device RAM with overflow on hard disk'.The engineer needs to check thesize of the_ to determine the current write
cache size. (Choose the correct option to complete the sentence.)A. .writecachefilein the vDisk storeB. local page fileC.
.vdiskcache file on the device hard diskD. RAM and page file combined in Task ManagerAnswer: CQUESTION 96Which three
tasks can a Device Administrator, but NOT a Device Operator, perform? (Choose three.)A.  View vDisk properties.B.  Edit target
device properties.C. Assign and remove vDisks from adevice.D. Perform power management actions on target devices.E.

Send messages to target devices. Answer: BCE!!'RECOMMEND!!!1.]2018 Latest 1Y 0-311 Exam Dumps (PDF & VCE) 140Q& As
Download:https.//www.braindump2go.com/1y0-311.html2.|]2018 L atest 1Y 0-311 Study Guide Video: YouTube Video:

Y ouTube.com/watch?v=nfDvGe8rC9s
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